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	Data Interpretation


	3
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	60
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	C
	Extended Writing


	5
	3
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INSTRUCTIONS TO STUDENTS

Section A
Answer ALL the questions on the separate Multiple Choice Answer Sheet using a 
2B, B or HB pencil. Do not use a ball point or ink pen.

Section B 
Write your answers in the spaces provided in this Question/Answer Booklet.

Section C
Write your answers on lined paper.

SECTION A 

Multiple Choice Questions (25 marks)

Suggested time: 30 minutes

Attempt all questions in this section.  Choose the alternative which correctly answers the question or completes the statement.  Record your answers on the separate Multiple Choice Answer Sheet using a 2B, B or HB pencil.  Read the instructions on this sheet with care.

Each question is worth one mark.

________________________________________________________________________________

1. The economic model that shows the fluctuations in economic activity is known as the 


(a)
circular flow model.


(b)
keynesian diagram.


(c)
aggregate demand /aggregate supply model.

(d)
trade cycle.

2.
The most stable component of Aggregate Expenditure in Australia is 


(a)
private investment expenditure.


(b)
private consumption expenditure.


(c)
government spending on goods and services.


(d)
government spending on transfer payments.

3.
Which of the following is a leading indicator of the level of economic activity?


(a)
Unemployment rates.

(b)
Retail sales.


(c)
The All Ordinaries Index.


(d)
The inflation rate.

4
In the five sector circular flow model of the economy, if the value of withdrawals exceeds the value of injections, then 


(a)
inventories will rise and the level of economic activity will fall.


(b)
both inventories and the level of economic activity will fall.


(c)
a new, higher level of income will be attained.


(d)
the government will have to run a deficit budget to achieve equilibrium.

5.
Which one of the following is not a demand side factor influencing economic growth? The 


(a)
level of consumer confidence.


(b)
productivity of the labour force.


(c)
influence of interest rates on consumption expenditure.


(d)
influence of personal income tax on consumption expenditure.

Question 6 refers to the following diagram.
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6.
 Which one of the following is most likely to cause the economy to move from point A to 

  point B?


(a)
A reduction in interest rates.


(b)
Increased government spending.


(c)
A decrease in consumer spending.


(d)
A decrease in income taxes.

7.
Which of the following is most likely to cause a downturn in economic activity in  a country 

that had experienced a long period of sustained economic growth?
 A


(a)
 significant rise in the world oil price.


(b)
 significant depreciation of the currency.


(c)
 fall in the inflation rate.


(d)
 fall in the unemployment rate.

8.
 If in a given economy, the marginal propensity to consume is 0.75, the top marginal rate 

of tax is 0.40 and the level of investment is $400m, then the size of the multiplier is 


(a)
1.33.


(b)
4.


(c)
0.86.


(d)
1600.

Question 9 refers to the following table that shows the maximum alternative combinations of consumer goods and capital goods that two countries can produce.

	
	Consumer Goods
	Capital goods

	Country X
	12 000
	4 000

	Country Y
	8 000
	2 000


9.
 According to the theory of comparative advantage, if the two countries pursue free trade 

policies, the price of consumer goods will


(a)
rise in country Y and fall in country X.


(b)
fall in both countries.


(c)
remain the same in country X and fall in country Y.


(d)
remain the same in country Y and fall in country X.

Question 10 refers to the following table giving details of a nation’s Terms of Trade.

	Year
	Import Price Index
	Export Price Index

	1
	100
	100

	2
	103
	115


10.
What can be said about this country from the change in the Terms of Trade shown in the 

table? The country 

(a)
has imported more than it has exported.

(b)
has earned more from exports than it has spent on imports.

 (c)
will now experience an improvement in its current account outcome.

(d)
can now buy more imports with a given volume of exports.

11.
If the RBA were to act to lower interest rates, then aggregate demand would probably 

(a)
rise and the exchange value of the $AUD fall.


(b)
fall and the exchange value of the $AUD rise.


(c)
fall and the exchange value of the $AUD fall.


(d)
rise and the exchange value of the $AUD rise.

12.
Which of the following has contributed most to fluctuations in the balance on current account in Australia?

(a)
Services credits

(b)
Net income

(c)
Net transfers

(d)
Goods credits

13.
In  Australia’s Balance of Payments  the provision of education to overseas students is recorded in the 

(a)
capital account.

(b)
services account.

(c)
financial account.

(d) income account.

14.
Opponents of globalisation would argue that 

(a)
free trade should be pursued by all nations because it is consistent with the principle of comparative advantage.

(b)
high levels of international specialisation will mean higher priced goods, because as materials are shipped across the globe, transportation costs will become excessive.

(c)
the transition costs of shifting  to a free trade environment are too great, and not really transitory.

(d)
international specialisation along the lines of comparative advantage will result in 

economic inefficiency in  resource allocation.

15.
If there is an increase in demand in Australia for American electrical products, then in the 

foreign exchange market, the 

(a)
demand for the $US rises and the $US appreciates.

(b)
supply of the $US rises and the $US appreciates.

(c)
supply of the $AUS falls and the $AUS depreciates.

(d)
demand for the $AUS falls and the $AUS depreciates.

16.
Which of the following would represent a fall in the level of domestic protection? 

(a) A rise in the level of subsidies.

(b) A rise in the size of quotas.

(c) An increase in the use of import embargoes.

(d) An increase in the tariff rate.

17.
If an economy has been enjoying a long period of economic growth and the federal government had budgeted for a surplus, then a move into recession would automatically 

(a)
move the budget into deficit.

(b)
decrease the size of the surplus.

(c)
bring the budget to balance.

(e) worsen the current account deficit.

18.
The policy tool that has been the focus of demand management in the last decade has been 

(a)
fiscal policy.

(b)
monetary policy.

(c)
microeconomic reform.

(d) external policy.

19.
In a deregulated labour market one would expect to find significant 

(a)
union influence in the wage setting process.

(b)
federal government influence in the wage setting process.

(c)
wage differentials between occupations.

(d)
industrial unrest.

20.
In the short term, with nothing else changing, a fall in real interest rates in Australia would be expected to cause a

(a)
rise in the level of overseas investment in Australia and an appreciation of the 

Australian dollar.

(b)
fall in the level of overseas investment in Australia and an appreciation of the 

Australian dollar.

(c)
rise in the level of overseas investment in Australia and a depreciation of the 

Australian dollar.

(d)
fall in the level of overseas investment in Australia and a depreciation of the 

Australian dollar.

21.
Which of the following combinations of fiscal and monetary policies would probably cause 

the greatest short-term expansion of the economy? A discretionary rise in 


(a)
an existing budget deficit and a reduction in the cash rate.


(b)
an existing budget deficit and a rise in the cash rate.


(c)
an existing budget surplus and a reduction in the cash rate.


(d)
the cash rate and a fall in an existing budget surplus.

22.
If a government aimed to balance its budget at all times then, in a time of economic boom, it would have to 


(a)
increase its tax rate and reduce government expenditure.


(b)
decrease the tax rate and reduce government expenditure.


(c)
increase both tax rates and the level of government expenditure.


(d)
leave tax rates the same and increase government expenditure.

23.
The introduction of the GST could have contributed to a downturn in economic activity because it 


(a)
is a regressive tax.


(b)
is a progressive tax.


(c)
created uncertainty.


(d)
added significantly to inflation.

24.
The main tool of monetary policy in Australia is 

(a)
the Reserve Bank of Australia (RBA).


(b)
the cash rate.


(c)
control over interest rates.


(d)
the inflation rate.

25.
Which of the following will contribute directly to an improvement in labour 

productivity?



(a)
A  rise in the male participation rate.


(b)
A decrease in the natural rate of unemployment.


(c)
A rise in the capital/labour ratio.


(d)
A rise in the labour force participation rate.

END OF SECTIONS A

THIS PAGE HAS BEEN DELIBERATELY LEFT BLANK. 
SECTION B

Data Interpretation  (30 marks)

Suggested time: 60 minutes
Answer ALL THREE (3) questions.  Each question is worth 10 marks.

Write your answers in the spaces provided under each part of the question.
________________________________________________________________
26.
Question 26 refers to the following table.

Australian Output, Employment and Prices

	Year
	Employed Persons

(‘000)
	Unemployed Persons

(‘000)
	CPI
	% Change in output from the previous year.

	1993/94
	7780
	915
	110.4
	3.9

	1994/95
	8092
	794
	113.9
	4.1

	1995/96
	8301
	764
	118.7
	4.1

	1996/97
	8381
	792
	120.3
	2.4

	1997/98
	8496
	764
	120.3
	3.75

	1998/99
	8681
	718
	121.8
	3.25


Source: Australian Year Book 2000

(a)
(i)
The highest rate of unemployment was  ____ % recorded in 19_______.
(1 mark)


(ii)
The highest rate of inflation was ______% recorded in 19________.
(1 mark)

(b)
Describe economic conditions in the year showing the greatest improvement in the level of economic activity.

(3 marks)

_______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________________________________________________________________________________________________

______________________________________________________________________________________________________________________________________________________________________________

(c)
Suggest reasons for the trends in unemployment and inflation shown in the table.
(5 marks)

______________________________________________________________________________________________________________________________________________________________________________

______________________________________________________________________________________________________________________________________________________________________________

______________________________________________________________________________________________________________________________________________________________________________

______________________________________________________________________________________________________________________________________________________________________________

______________________________________________________________________________________________________________________________________________________________________________

______________________________________________________________________________________________________________________________________________________________________________

______________________________________________________________________________________________________________________________________________________________________________

______________________________________________________________________________________________________________________________________________________________________________

______________________________________________________________________________________________________________________________________________________________________________

______________________________________________________________________________________________________________________________________________________________________________

______________________________________________________________________________________________________________________________________________________________________________

______________________________________________________________________________________________________________________________________________________________________________

_______________________________________________________________________________________

27.  Question 27  refers to the following article.

WOODSIDE: COSTELLO’S SHOCK VERDICT

In one stroke the Federal Government sliced three percent off the Australian dollar, when it rejected Royal Dutch Shell Group’s five-month-old bid for Woodside Petroleum Ltd yesterday, sparking fears about much needed foreign investment.  The treasurer, Mr Peter Costello, announced the rejection yesterday saying the bid was ‘not in the national interest’.  Immediately after the announcement at 2pm yesterday the Australian dollar slumped from US52¢ to US50.40¢. 

Currency desks in Sydney fretted that the prospects for foreign investment were dimming.  Last year’s gut wrenching $A slide was mostly blamed on the absence of foreign investment inflows. Traders also stressed that there was also a psychological blow and offshore reaction to the currency would be negative.  A move below the important $US50¢ was possible.

Some commentators thought that the Treasurer’s decision was politically motivated, in an election year, in an attempt to soothe voter anger about economic reform, foreign takeovers and globalisation.

Deutsch Bank currency strategist Mr Richard Yetsenga said “for a country struggling with a current account deficit to fund, today’s decision will overshadow the $A for some time to come”.

Adapted from Articles in the AFR 24th April 2001

	


(a) 
Account for the impact of the Woodside decision on the exchange value of the Australian 

dollar. 









             (2 marks)


__________________________________________________________________________


__________________________________________________________________________


__________________________________________________________________________


_________________________________________________________________________

(b) Outline the possible reasons for the Treasurer’s rejection of the takeover bid.



 (3 marks)


__________________________________________________________________________


__________________________________________________________________________


__________________________________________________________________________


_________________________________________________________________________

__________________________________________________________________________


_________________________________________________________________________

____________________________________________________________________________________________________________________________________________________

(c) Explain why foreign investment is “much needed” in Australia.


(5 marks)

______________________________________________________________________________________________________________________________________________________________________________

______________________________________________________________________________________________________________________________________________________________________________

______________________________________________________________________________________________________________________________________________________________________________

______________________________________________________________________________________________________________________________________________________________________________

______________________________________________________________________________________________________________________________________________________________________________

______________________________________________________________________________________________________________________________________________________________________________

______________________________________________________________________________________________________________________________________________________________________________

______________________________________________________________________________________________________________________________________________________________________________

______________________________________________________________________________________________________________________________________________________________________________

______________________________________________________________________________________________________________________________________________________________________________

28. Question 28 refers to the following graph. 

FEDERAL BUDGET  UNDERLYING CASH BALANCES
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Source: Budget Papers Treasury 2001.

(a) Give the budget outcomes for 

(i) 1992/93. ___________________________________ 

(ii) 2000/01.____________________________________


(2 marks)

(b)
Suggest reasons for the shift in the budget outcome from 1992/93 to 1998/99.
(3 marks)

__________________________________________________________________________


__________________________________________________________________________


__________________________________________________________________________


__________________________________________________________________________


__________________________________________________________________________

__________________________________________________________________________


__________________________________________________________________________


__________________________________________________________________________

 (c)
Outline the possible impacts of the shift to budget surpluses shown in the graph.












(5 marks)

______________________________________________________________________________________________________________________________________________________________________________

______________________________________________________________________________________________________________________________________________________________________________

______________________________________________________________________________________________________________________________________________________________________________

______________________________________________________________________________________________________________________________________________________________________________

______________________________________________________________________________________________________________________________________________________________________________

______________________________________________________________________________________________________________________________________________________________________________

______________________________________________________________________________________________________________________________________________________________________________

______________________________________________________________________________________________________________________________________________________________________________

______________________________________________________________________________________________________________________________________________________________________________

______________________________________________________________________________________________________________________________________________________________________________

______________________________________________________________________________________________________________________________________________________________________________

SECTION C 

Essays and Extended Answers (45 marks)

Suggested time: 90 minutes

Answer any THREE (3) questions.  Each question is worth 15 marks.

Write your answers on lined paper. Number your responses clearly.

________________________________________________________________________________
29.
(a)
Explain and demonstrate how aggregate demand affects the level of national income.

(6 marks)

(b)
Describe the role of savings and investment in determining the level of economic activity in Australia. 









(9 marks)
________________________________________________________________________________
30.
(a)
Outline the factors that could trigger a downturn in the Australian economy at the


 
present time.







        

 (10 marks)


(b)
Suggest an appropriate policy response to such a downturn.




(5 marks)

________________________________________________________________________________
31. 
 (a)
Explain and demonstrate the benefits to be obtained from a policy of free trade.













(6 marks)


(b)
Discuss the arguments of those who believe that there should be restrictions on the 

free movement of goods, services and capital between nations.



(9 marks)

________________________________________________________________________________
32.      (a)
 Describe the factors that affect the exchange value of the Australian dollar.

 (9 marks)

           (b)
Outline the effects of an appreciation of the currency on the Current Account of the Balance of Payments.









(6 marks)
_______________________________________________________________________________
33.
Explain and demonstrate the nature of microeconomic reform in Australia over the last   twenty years.
Answer this question with reference to three specific Australian examples.




   





          (15 marks)

________________________________________________________________________________
END OF PAPER










SEE NEXT PAGE

_______________________________________________________________________________________________


